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Question Number : 1 Question Id : 953357525139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Development of individual child-

Options :

1. can be predicted accurately and absolutely by referring to the developmental milestones.

2. cannot be predicted at all.

3. can be predicted somewhat but all children develop at different rates.

4. is disorderly and discontinuous.

Question Number : 1 Question Id : 953357525139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 953357525140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct?

Options :

1. Development is not sequential.

2. Development is disorderly.

3. Development is a continuous process.

4. Development milestones are not influenced by the cultural context.

Question Number : 2 Question Id : 953357525140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 953357525141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Children learns the knowledge, skills, values, customs of the society by-

(1) neighbourhood
(ii) religion
(iii) school

(iv) peer group
Options :

1. (1) (iii)

2. (1) (iv)

3. (1) (iii) (iv)

4. (1) (ii) (iii) (iv)

Question Number : 3 Question Id : 953357525141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 953357525142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

As per Jean Piaget’s theory, adaptation involves two complementary activities —

Options :

1. Accommodation and Assimilation

2. Equilibration and Organization

3. Accommodation and Equilibration

4. Assimilation and Organization

Question Number : 4 Question Id : 953357525142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 953357525143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Jean Piaget, at which stage of cognitive development do children gain the ability to arrange items along qualitative
dimensions such as length and weight, yet have difficult in dealing with mental operations that involve abstract concepts?

Options :

1. Sensori-motor Stage

2. Pre-operational Stage

3. Concrete Operational Stage
4. Formal Operational Stage



Question Number : 5 Question Id : 953357525143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 953357525144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In the theory proposed by Lev Vygotsky private speech —

Options :

1. helps the child to regulate her thinking.

2. is a hinderance in the child’s thinking.

3. shows ego-centrism of the child.

4. decreases as the child is presented with more challenging tasks.

Question Number : 6 Question Id : 953357525144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 953357525145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Lev Vygotsky, teachers can assist in learning by —

Options :

1. providing appropriate rewards.

2. giving strict punishment.

3. changing the nature and quality of support.

4. making them copy all the answers from a blackboard.

Question Number : 7 Question Id : 953357525145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 953357525146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Pooja tells her friend that we should follow class rules else the teacher will not allow us to play outside. Pooja is at which stage of moral
development according to Lawrence Kohlberg?

Options :

1. Obedience and Punishment Oriented

2. Good boy-good girl orientation

3. Authority and social-order maintaining orientation
4. Universal Ethical Principles orientation

Question Number : 8 Question Id : 953357525146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST ST T 3T T 2 136 B e o Tl T UTe AT AT, A et 55 e W it AT Te S
T, FH rEerant o o e o o =wor 27

Options :

. TSI U U ST IE=2me

5 SRR TS FTHITSTE 8 SoawT STt
, TR Sfe faars srataare

Question Number : 9 Question Id : 953357525147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT correct as per Howard Gardner?

Options :

1. Intelligence is a fixed and stable trait

2. Intelligence can be nurtured and grown

3. Intelligence is of several kinds rather than dominated by a general factor

4. Intelligence cannot be tied to a single domain

Question Number : 9 Question Id : 953357525147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 953357525148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In child-centred education —

Options :

1. The teacher does not play any role

2. The teacher play active role while the students are passive

3. The students are active while the teacher is passive

4. Teacher and students are both active

Question Number : 10 Question Id : 953357525148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 953357525149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Assertion (A): In the classrooms boys have the potential to perform much better than the girls in Mathematics and Science.

Reason (R): Mathematical reasoning and scientific ability come naturally to boys than girls.

Choose the correct options.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 11 Question Id : 953357525149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 953357525150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

National Education Policy 2020 emphasizes —

Options :

1. Flexibility of the curriculum

2. Standardization of the curriculum

3. De-contextualization of textbooks

4. Rote memorization of the textbooks

Question Number : 12 Question Id : 953357525150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 953357525151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The focus assessment should be on —

Options :

1. Reflecting what all the learners cannot do

2. Specifying the performance of the learners in comparison to the other in the class

3. Labelling the child into a normative category

4. Detailing what and how the learner has been learning

Question Number : 13 Question Id : 953357525151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 953357525152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following characterise a socio-constructivist classroom that caters to needs of individual children?

Options :

1. Fixed seating arrangement

2. Teacher giving only instructions and expecting the children to be totally obedient.

3. Memorization of facts by the children

4. Children discussing while working in groups

Question Number : 14 Question Id : 953357525152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 953357525153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is an appropriate question to assess critical thinking in the classroom?

Options :

1. Add 325 + 48.

2. In which year was the child marriage restrain act passed?

3. Define the term respiration.

4. Analyze the various reason of pollution in your city and think of various measures to reduce the pollution.

Question Number : 15 Question Id : 953357525153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 953357525154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following depicts a culture of inclusion in schools?

Options :

1. Differentiated assessments are promoted to meet students’ needs.

2. Diversity and varied perspectives are discouraged.

3. Only few students feels welcomed and valued in the school.

4. Students are divided into fixed groups as per their abilities.

Question Number : 16 Question Id : 953357525154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 953357525155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a class comprising of culturally diverse students, which of the following should be avoided by a teacher?

Options :

1. Bringing examples from diverse cultures in the discussion

2. Developing curriculum and teaching style suitable to dominant culture

3. Encouraging students to share unique features of their culture

4. Promoting a culture of respect and acceptance among students

Question Number : 17 Question Id : 953357525155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 953357525156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following directly affects learner’s ability to read, interpret and understand letter and words?

Options :

1. Dyscalculia

2. Dysgraphia

3. Dyslexia

4. Dysphasia

Question Number : 18 Question Id : 953357525156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 953357525157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To ensure successful inclusion of students with locomotor disability, it is important to avoid :

Options :

1. Allocating classrooms, library and labs on the top floor

2. Levelling of all areas of school with ramps and lifts

3. Making adaptions as per students’ requirements

4. Reasonable accommodation in seating arrangement

Question Number : 19 Question Id : 953357525157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 953357525158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an identifying characteristic of student with ‘creativity’?

Options :

1. Higher order problem solving

2. Convergent thinking

3. Novel Innovation

4. Strong sense of curiosity

Question Number : 20 Question Id : 953357525158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 953357525159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In order to facilitate long-term remembrance of a particular content, which of the following strategy should be avoided by a teacher?

Options :
1. Applying mnemonics

2. Making Organizational charts
3. Presenting Disjointed words
4. Using imagery

Question Number : 21 Question Id : 953357525159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 953357525160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Students learn better when material to be learnt is

Options :

1. complex and extensive.

2. connected with existing knowledge.
3. disorderly and unorganized.
4. disparate to their socio-culture context.

Question Number : 22 Question Id : 953357525160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 953357525161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following contributes to students’ failure in academic achievements?

Options :

1. Experiential learning

2. Decontextualized curriculum

3. Inclusive philosophy

4. Lerner-centered pedagogy

Question Number : 23 Question Id : 953357525161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 953357525162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

As per National curriculum framework (2005), children —
Options :

1. are passive recipients of content delivered by teacher.
2. don't have the capacity to regulate their learning.

3. learn best through rote memorization.

4. play active role in construction of knowledge.

Question Number : 24 Question Id : 953357525162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 953357525163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In order to teach a concept, a teacher should avoid using:

Options :

1. Exemplars related to the concept

2. Instances discrete to the concept

3. Non-exemplars related to the concept

4. Prototypes prevalent in their culture

Question Number : 25 Question Id : 953357525163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 953357525164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Knowledge or awareness of self as knower' depicts:

Options :

1. Metacognition

2. Misconception



3. Mnemonics
4. Motivation

Question Number : 26 Question Id : 953357525164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 953357525165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Identifying the difficulty; setting the goal; exploring possible solution and consequences; acting accordingly and evaluate the outcomes are
important steps involved in the process of —

Options :

1. Attribution

2. Imitation

3. Problem-solving
4. Passive attention

Question Number : 27 Question Id : 953357525165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FISATS 1 T, T [EIROT, FATTEA RIS GOt 6 @IS, TET4R 1 FA1 S Gt i Jedish
=T, T o Tor o o amTTeer syt <o &2
Options :

=

| AT
2. Ahe

3. HHET-HHTE™

4. Tiferg s

Question Number : 28 Question Id : 953357525166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Assertion (A): Exploring and discussing misconception in meaningful in teaching-learning process.

Reason (R): It gives students opportunities to think about the reasons behind those misconception and it is helpful in leading deeper
investigations.

Choose the correct option.
Options :
1. Both (A) and (R) are true and (R) is the correct explanation of (A).



2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.
4. Both (A) and (R) are false.

Question Number : 28 Question Id : 953357525166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 953357525167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Students are likely to feel boredom when:

Options :

1. activity is not valued

2. activity is valued

3. success is achieved

4. success is desired

Question Number : 29 Question Id : 953357525167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 953357525168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is an inappropriate way of using feedback as a motivator?

Options :

1. Feedback concentrated on the ability of the student

2. Feedback focused on the process of an activity

3. Feedback in descriptive style related to students' work

4. Feedback without referring to comparisons with other students



Question Number : 30 Question Id : 953357525168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 31 Question Id : 953357525169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the value of P, if

0.007

=0.01

Options :
1. 0.0007

5 0.07

3. 0.7

Question Number : 31 Question Id : 953357525169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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5 0.07
3 0.7

4. 7

Question Number : 32 Question Id : 953357525170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is correct?
Options :
;. 1 km=100km, | m=10cm, | cm= 10 mm

2 1km=1000m, l m=100¢cm, 1 cm= 100 mm
3 lkm=1000m. lm=10cm. 1l cm= 10 mm

4 lkm=1000m, | m=100¢cm, 1 cm= 10 mm

Question Number : 32 Question Id : 953357525170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Frefafes 5 o - =8 22

Options :

L lkm=100m, I m=10cm, 1 cm= 10 mm

' Il km=1000m, Il m=100cm, 1 cm =100 mm

2
3. lkm=1000m, Im=10cm, | cm =10 mm
4 lkm=1000m, Il m=100cm, 1 cm =10 mm

Question Number : 33 Question Id : 953357525171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Observe the pattern and select appropriate numbers from the given options to fill in the blanks:
1+2+3+4=10
2+3+4+5=14

Options :

1. Sand 16
> 4and 16
3 Sand I8

4 4and 18



Question Number : 33 Question Id : 953357525171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1+2+3+4=10

24+3+4+5 =14
3+4+  +6=__
4+5+6+7=22

Options :

| 5316
, 4316
; S5TIS

4 4318

Question Number : 34 Question Id : 953357525172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The table below shows number of tigers in a National Park in different years:

Year Number of tigers
2014 173
2015 156
2016 140
2017 125
Select the correct statement:

Options :

| The number of tigers increased every year.

. With respect to previous year, more number of tigers decreased in 2015 in comparison to 2016.

3 With respect to previous yvear, more number of tigers decreased in 2017 in comparison to 2015,

4 With respect to previous years, equal number of tigers decreased in 2016 and 2017.

Question Number : 34 Question Id : 953357525172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 35 Question Id : 953357525173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Kareem went to purchase flowers and he gave four coins of 32, two notes of 220 and three notes of 2100 to the
shopkeeper. If the price of flowers was 335, how much money did he get back?

Options :
1. %21

5 212

3 %15

Question Number : 35 Question Id : 953357525173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
L T21

, %12

5 Z15



Question Number : 36 Question Id : 953357525174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A scalene triangle has:
Options :
| three equal sides

5 two equal sides
5 three unequal sides

4. two equal angles

Question Number : 36 Question Id : 953357525174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 953357525175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Some persons are standing in a line at a train ticket counter. Ameena is 14™ from both ends. How many persons are
there in the line?

Options :

1. 26

Question Number : 37 Question Id : 953357525175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T 3 T I W F oAl e WS # ST T UM A S 14 91 ) 39 T I FA b S WS
Options :

1. 26




Question Number : 38 Question Id : 953357525176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Malini wants to make necklaces each containing 18 sea shells. She collected 200 sea shells. out of which 3 were broken.
Which of the following is correct for the given situation?

Options :
1. Malini can make 11 necklaces with the sea shells

, Malini needs one more sea shell to complete 11 necklaces

3. Malini can make 10 necklaces and she would left with 15 sea shells

4. Malini can make 12 necklaces with the sea shells

Question Number : 38 Question Id : 953357525176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 953357525177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

How many triangular faces are there in the net of a triangular pyramid?
Options :
1. Four

> Five
3. Six

4 Eight



Question Number : 39 Question Id : 953357525177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T TR ffive ¥ 2 1 R B were B
Options :
s

2. :I‘ 2
3. B

4, S

Question Number : 40 Question Id : 953357525178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Vasu has a bucket that can hold 3'? — litres of milk. He wants to fill small bottles of capacity 250 mL with this milk to
sell it in the market. How many bottles can he fill with this milk?

Options :
1. 103

5 118
3 125

4 149

Question Number : 40 Question Id : 953357525178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
. 103

, 118
5 125

4 149

Question Number : 41 Question Id : 953357525179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The distance between Seema and Siraj’s houses is 666.66 metres. Which statement about the values of the digits in the
distance. in metres, between their houses is true?

Options :
| The value of 6 in the hundreds place is 10 times of the value of the 6 in the ones place.



5 The value of 6 in the hundredths place is % the value of the 6 in the ones place.
3 The value of 6 in the ones place is % the value of 6 in the tens place.

A The value of 6 in the tenths place is ﬁ the value of the 6 in the hundreds place.

Question Number : 41 Question Id : 953357525179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 953357525180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The number of lines of symmetry in the letter H is
Options :
1. 0

B

Question Number : 42 Question Id : 953357525180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AL H H HHa T@re sl e E —
Options :
1. 0

(o]



4 4

Question Number : 43 Question Id : 953357525181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Three friends converted the time of 24 hours clock in that of 12 hour clock as follows:

Name of the Time in 24 hour clock Time in 12 hour clock
children
Cheeku 23:45 11:45 pm
Bittu 16:30 04:30 am
Pinki 19:28 07:28 pm
Who has shown incorrect time in 12 hour clock?
Options :

1 Cheeku only

, Bittu only

5 Pinki only

4. Cheelku and Pinki

Question Number : 43 Question Id : 953357525181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 953357525182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Sonam’s water bottle holds one litre of water. She drank 275mL of water and her friend Naina drank 250mL. how much
water is left in her bottle?



Options :
1. 425 mL

7. 475 mL

Question Number : 44 Question Id : 953357525182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TH T AT 3 S T UE e U7 AT 2] 56 275 mL T TR S 39T & 99T 5 250 mL 9T i
Araer J o7e Torm et s=r 20

Options :
1. 425 mL
5 475 mL

3 525 mL

4. 375 mL

Question Number : 45 Question Id : 953357525183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Saurabh is shifting his house. He loaded things on a horse-cart who cannot pull a load heavier than 300kg. He loaded
the following weights on the horse-cart:

Things loaded Weight
A sack of wheat 150kg
A sack of rice 55kg
Almirah o8kg
Water tank 75kg
Utensils 20kg

Which thing should be removed so that the weight of the load is equal to 300 kg?
Options :

1. Water tank

> Asack of rice

3. Almirah

4. Utensils

Question Number : 45 Question Id : 953357525183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 953357525184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is/are important processes in geometry?
(a) Visualization
(b) Transposition
(c) Transformation

Choose the correct option.

Options :

L {a)and (c)

5 Only (b)

3. (b)and (c)

4 Only (a)

Question Number : 46 Question Id : 953357525184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
(a) R (c)

1

N Fa= (b)

5 (b) 3R (c)

A T (a)

Question Number : 47 Question Id : 953357525185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is/are most appropriate for games in the context of teaching-learning of mathematics?
(a) We cannot perform assessment of a child while engaging in mathematical games
(b)Mathematical games provide experiences of joyful learning in mathematics
(c) Mathematical games are open-ended play

Choose the correct option.

Options :
L (@) and (¢)

, Only (b)

3 (a) and (b)

4 Only (a)

Question Number : 47 Question Id : 953357525185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 48 Question Id : 953357525186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

According to National Curriculum Framework 2005, which of the following aims of teaching mathematics is least
appropriate for primary classes?

Options :

| Enhancing spatial understanding

, Nurturing interest in mathematics

5 Connecting real life experiences to mathematics

4 Developing expertise of algebraic thinking

Question Number : 48 Question Id : 953357525186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 953357525187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a characteristic of geometrical reasoning levels as given by Van Hieles?

Options :
| Experience dependent

, Developmental

3 Sequential

4 Age dependent

Question Number : 49 Question Id : 953357525187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 953357525188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following concepts CANNOT be taught using Dienes blocks?
Options :
Probability

1
> Place value

3. Addition of numbers

Multiplication of one digit numbers

~

Question Number : 50 Question Id : 953357525188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 953357525189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following is/are related to pre-number concept formation in children?
(a) One to one correspondence
(b)Hierarchical inclusion
(c) Measurement
Choose the correct option.
Options :
L Only (a)

, (a) and (¢)

3 (@) and (b)



4 (b)and (c)

Question Number : 51 Question Id : 953357525189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 953357525190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The classroom-based assessment in mathematics should:
(a) consider and respect the unique qualities, experience and expertise of all the students
(b) be presented in focused isolated manner different from mathematics instructions
(c) reflect on what is being revealed about thinking process of students

Choose the correct option.

Options :

| Only (a)

5 (b)and (c)
3 (a) and (b)

4 (a)and (c)

Question Number : 52 Question Id : 953357525190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 953357525191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are true about the nature of mathematics?

(a) Mathematics can be understood as science of patterns

(b)Mathematics explores possible relationships among abstractions

(c) As mathematics is based on logic, there is a very limited space for creativity in mathematics.
Choose the correct option.

Options :
1 (@) and (b)

5 Only (¢)

3. (b)and (c)

4 Only (a)

Question Number : 53 Question Id : 953357525191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 54 Question Id : 953357525192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Remedial teaching is most helptul for:
Options :
| Students appearing in competitive exams

, Recapitulating the lesson

3 Teaching problem solving

4.
Addressing the difficulties students are facing in understanding mathematical concepts and improve their performance

Question Number : 54 Question Id : 953357525192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 953357525193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statement is least appropriate in the context of spatial understanding of children?
Options :
| Primary school children cannot make logical transitive inferences (X>Y, Y>Z, therefore X>Z).

, Primary school children can extend the concept of shapes in a real life situation.

3 Children can understand the logic of measurement in their early school years.

4 Children’s pre-school knowledge of space is relational

Question Number : 55 Question Id : 953357525193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 953357525194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following cannot be the methods of formative assessment in mathematics?

Options :
| Project

, Quiz
3. Journal entries

4. Term-end examination

Question Number : 56 Question Id : 953357525194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 57 Question Id : 953357525195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Majority of students in a class say 60 is equal 3115.
+5

L]

Revisiting which of the following concepts will be most appropriate to
remediate the error?

Options :
| Addition with regrouping

, Forward counting



3 Addition of 3 digit numbers

4 One to one COl‘l‘ESpOﬂdeﬂCE‘

Question Number : 57 Question Id : 953357525195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 953357525196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following is/are true for errors in mathematics?
(a) If a student is making a lot of errors in mathematics, this means that he lacks ability to do mathematics.
(b)Errors provide insights about misconceptions in mathematics
(c) Teacher should provide sufficiently challenging tasks in which students might make errors.
Choose the correct option.
Options :
(@) and (b)

5 Only (a)

3. (b)and (c)

4 (a)and (c)

Question Number : 58 Question Id : 953357525196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 953357525197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is least related with problem-solving in mathematics according to George Polya?
Options :
| Understanding the problem

, Making a strategy to solve the problem
5 Looking for a single obvious solution to the problem

4 Interpreting the answer

Question Number : 59 Question Id : 953357525197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 953357525198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



A primary grade mathematics teacher designs following activities to introduce the concept of “Fractions™.
(a) Writing different types of fractions on blackboard and explaining its various attributes.
(b) Using symmetrical rectangular strips and circular cut-outs for paper folding activities

d i 5 : g 5 T 33
(c) Using various pictures to depict fractions like 5 efc.
Which of the following represents the most appropriate sequence for above activities to be used by the teacher?

Options :
| b.c.a

5 a,b,c
3 c.a. b

4 .G, b

Question Number : 60 Question Id : 953357525198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 61 Question Id : 953357525199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

"Rajmah-Chawal (rice) and Bhature-Chholey" is the most liked food of the common people of

Options :

1. Chhatisgarh

2. Gujarat

3. Punjab

4. Uttarakhand

Question Number : 61 Question Id : 953357525199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Options :

, TRV

Question Number : 62 Question Id : 953357525200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The date on which the earthquake struck in Bhuj is 2
Options :

1. Gujarat

2. Maharashtra

3. Uttarakhand

4. Jammu and Kashmir

6 J. anuary 2001. Bhuyj is in which state?

Question Number : 62 Question Id : 953357525200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 63 Question Id : 953357525201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which one of the following states most of the houses in villages are found to be almost 3-3.5m above the ground and made on the strong
bamboo pillers. The roof are made sloping and the floor and walls are made of wood.

Options :
1. Andhra Pradesh



2. Assam
3. Odisha
4. Kerala

Question Number : 63 Question Id : 953357525201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 953357525202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The distance between New Delhi station and Kanpur railway station is 432 km. A train starts from Kanpur railway station on 16t
December 2021 at 21:45 hrs and reaches at New Delhi railway station on 17" December 2021 at 05:45 hrs. The average speed of the train
during this journey is

Options :

1. 54 m/s

2.27 m/s

3.20 m/s

4. 15 m/s

Question Number : 64 Question Id : 953357525202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1. 34 m/s

7 27 m/s
3 20m/s

4. 15 m/s

Question Number : 65 Question Id : 953357525203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

On the Galconda Map printed in class V Environmental Studies NCERT Textbook, its scale is given as- Scale 1cm = 110m. If the
measured distance on the map between Fateh Darwaja and Patanncheru Darwaja is 15.5 cm. The minimum actual distance between these
two gates is

Options :

1. 16.05 km



2.17.05 km
3. 1.705 km
4.1.605 km

Question Number : 65 Question Id : 953357525203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1. 16.05 km

> 17.05 km
3 1.705 km

4. 1.605 km

Question Number : 66 Question Id : 953357525204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Mukhtapur is a village of Pochampalli district. Most of the families of this district are weavers and the cloth they weave is called
Pochampalli. Pochampalli is a part of

Options :

1. Karnataka

2. Andhra Pradesh
3. Telangana

4, Tamil Nadu

Question Number : 66 Question Id : 953357525204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 953357525205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which one of the following cities, the trees of only one kind (date palms) are seen?

Options :

1. Kandahar

2. Karachi



3. Berlin
4. Abu Dhabi

Question Number : 67 Question Id : 953357525205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 953357525206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Bhopal is due east of Gandhi Nagar and Bangalore is due south of Bhopal. The direction of Gandhi Nagar with respect to Bangalore is
Options :

1. South-East

2. North-East

3. North-West

4. South-West

Question Number : 68 Question Id : 953357525206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 953357525207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Select correct statement from the following about Brass

Options :

1. It is an element

2. It is a compound

3. It is an alloy of copper and zinc

4. It is a homogeneous mixture of copper and tin

Question Number : 69 Question Id : 953357525207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

ieer (5TT) 5 Forr 3 i & e v
Options :

| TETE T

, TETH M T

. agw‘uraﬁiamwﬁrm:@%l

4 T HIUE HAR 27 =1 TRt a0 2)

Question Number : 70 Question Id : 953357525208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

There is a state in our country where the people grow eatables such as coconut and tapioca in their courtyard and prepare their tasty food
using the two. This State is

Options :

1. Karnataka
2. Kerala

3. Tamil Nadu
4. Telangana

Question Number : 70 Question Id : 953357525208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 953357525209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Changpas are tribal living on the mountains. They use big cone shaped tents which protect the changpas from extreme cold. The design of
these tents is

Options :

1. more than a thousang years old
2. about 800 years old

3. about 100 years old

4. very recent/modern

Question Number : 71 Question Id : 953357525209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 72 Question Id : 953357525210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In our country there are

Options :

1. 30 states

2. 28 states

3. 27 states

4. 26 states

Question Number : 72 Question Id : 953357525210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 73 Question Id : 953357525211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Select from the following a group of three states all having their coasts on the Bay of Bengal.

Options :

1. Odisha, Andhra Pradesh, Tamil Nadu

2. West Bengal, Tamil Nadu, Kerala

3. Maharashtra, Andhra Pradesh, Telangana

4. Kerala, Karnataka, Telangana

Question Number : 73 Question Id : 953357525211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 953357525212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘Cheraw’ is the folk dance of

Options :

1. Odisha

2. Assam

3. Chhatisgarh

4. Mizoram

Question Number : 74 Question Id : 953357525212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Options :
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Question Number : 75 Question Id : 953357525213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

There is an area in our country which is high, dry and flat and is known as cold desert. Here the rainfall is very little. Here there are high
snowcapped mountains and a cold flat ground. This area may be a part of

Options :

1. Jammu and Kashmir
2. Leh and Ladakh

3. Himachal Pradesh
4. Meghalaya

Question Number : 75 Question Id : 953357525213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 953357525214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The nature of Environmental Studies at primary level is

Options :

1. Supplementary

2. Single subject

3. Integrated

4. Textbook based

Question Number : 76 Question Id : 953357525214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 953357525215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the given statements are recommendations of NCF 2005 for EVS learning?

A. having sharp boundaries among school, home and the community for the learning
B. discourage rote learning

C. departure from bookish learning

D. children's life at school must be linked to their life outside the school.

Choose the correct option.
Options :

1. A and B only

2. A and C only
3.A,Band C

4.B,Cand D

Question Number : 77 Question Id : 953357525215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 953357525216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following can be the objectives of Environmental Studies at primary level?

A. to nurture the curiosity and creativity of the child particularly in relation to the natural environment.
B. to develop an awareness about environmental issues.

C. to engage the child in exploratory and hands-on activities.

D. to treat children as receivers of a fixed body of knowledge.

Choose the correct option.
Options :

1.A,Cand D

2.A,Band C

3.B,Cand D

4. C and D only

Question Number : 78 Question Id : 953357525216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 953357525217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statement is true in relation to the pedagogy of EVS at primary level?

Options :

1. It is a child centered

2. It is bookish

3. It involves teacher as instructor

4. It focuses retrieval practices

Question Number : 79 Question Id : 953357525217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 953357525218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Teaching learning process of EVS at primary level is challenging for teachers

Options :

1. for incalculating creativity and initiative for children.

2. for rote learning by children.

3. for describing concepts.

4. for using EVS textbooks as sole resource for learning.

Question Number : 80 Question Id : 953357525218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 953357525219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following can maximally facilitate learning of EVS?

Options :

1. Reference books

2. Stories and Narratives

3. Text book examination

4. Descriptions

Question Number : 81 Question Id : 953357525219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 953357525220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is the theme of the syllabus of EVS at primary level?

Options :

1. Family and friends

2. Means of transport

3. Conservation of water

4. Our nature

Question Number : 82 Question Id : 953357525220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

=1 3 & 9 Tatoe T W YA AT % WIS # a6 27

Options :
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Question Number : 83 Question Id : 953357525221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
In EVS learning, activities are conducted to provide experience for learning by doing



A. to develop psychomotor skills
B. to develop manipulative skill
C. to give hands on experience
D. to develop remembering skill

Choose the correct option.
Options :

1.A,Band C

2.B,Cand D

3.Aand C

4.Band D

Question Number : 83 Question Id : 953357525221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 953357525222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Meaningful learning of EVS can be given to children if

A. activities are conducted.

B. activities are conducted followed by discussion.

C. activities are conducted by the teacher according to the local contexts of the child.
D. group works designed by the children are promoted by the teacher.

Choose the correct option.
Options :

1.A,Band C

2.B,Cand D

3.A,Cand D

4. A,Band D

Question Number : 84 Question Id : 953357525222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 953357525223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Issues of theme "Plants" can be meaningful for the students if

Options :

1. theme based worksheets are given to students.

2. field trips are conducted around the issues.

3. demonstrations are given by teachers.

4. invited lectures followed by group work are organized.

Question Number : 85 Question Id : 953357525223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 953357525224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Besides EVS textbooks, which of the following may be highly useful resources for EVS learning?

A. Newspaper

B. Surveys



C. Twitter

D. Community members
Options :

1.A,Band D
2.B,Cand D
3.A,Cand D

4. A, B and D.

Question Number : 86 Question Id : 953357525224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 953357525225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Socio-cultural issues related to "Food" Theme can be effectively learnt

A. through community members

B. if surveys are conducted

C. through field trip

D. if slogans are prepared by the children

Choose the correct option.
Options :

1.A,Band C

2.A,Cand D

3.B,Cand D

4. A,Band D

Question Number : 87 Question Id : 953357525225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 953357525226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Group works are promoted for learning of EVS. The most appropriate reasons are

A. they promote peer learning

B. they improve social interaction among children

C. they promote collaboration among children

D. they are the only effective strategy for learning of EVS

Choose the correct option.
Options :

1.A,Band C

2.A,Band D

3.B,Cand D

4. A,CandD

Question Number : 88 Question Id : 953357525226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 953357525227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In assessment, self-assessment is

Options :

1. assessment for learning

2. assessment of learning

3. assessment as learning

4. evaluation through learning

Question Number : 89 Question Id : 953357525227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 953357525228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The information recorded in teacher's diary is used by the teacher

Options :

1. for reviewing and modify the teaching-learning strategies.

2. for developing progress report of the child's learning.

3. for recording the evidence for the child's learning.

4. for keeping the record of school.

Question Number : 90 Question Id : 953357525228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Correct Marks : 1 Wrong Marks : 0
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Question Number : 92 Question Id : 953357525231 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 93 Question Id : 953357525232 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 94 Question Id : 953357525233 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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2.2
3.3
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Question Number : 95 Question Id : 953357525234 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 96 Question Id : 953357525235 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 97 Question Id : 953357525236 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 98 Question Id : 953357525237 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 99 Question Id : 953357525238 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

BT 3i (5741 U2 A1 ST 2
1. TTg-eTehm:
3. -SRI
4. T8 Z-CTohI:

Options :

1.1

2.2

3.3
4.4

[

Question Id : 953357525229 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (91 to 99)
Question Label : Comprehension



ST (Part-1V) TR TR, I :, T7 & Hepd TUFaTsea (language-I) e |

TS 39T fafasr: Eﬂl’?}: ﬂ'&'ﬁﬁﬂ'l‘: PICIE m\laﬁrwm\a%aﬁww T S
FU: AT | T, 4 HUSHER Al Tgraw: Tiem: ¥ Faata = | 9 Temew: uied g
TYEE AN | @ T S9Ed, | T ool e e WehT: TN S| T Teewy
SARIRIT € Freall T, S FgH, IAAT: FWI | TG Tea Tgran: SwrE: FHEtd = |y
AT: el WA T T S T HoAVTH, SHU | T: TGN TH AUSH: Fedl HAHUI - el
e fepmfy = fogeafar | w1 wroyom wreifarare: sfer if: | ot wwspoT! e W wEwe: Wit | @
FeT Tt FHEwra | U TS fare I i |

T qE: TTEE: FUG ST FUe TG T | F: A6 e, 3= 6, - A 19
fawer: sraeq - v ww@! fF 3 e et | e e i 0 Teme: wraeq - oo vy o
F] 79 ZH IUNTA: | U T FY=0q - WEAWEERar: Ted higuil 41 2 TEET: HHAT - ¥,
T AT SAGHTA: T 9 Ve AT | T, o Teoa: ™2 Tqoeg:” 79 o e 3,
T, ASAT AT FU* | *ANT=0 791 98 FOH S0 HwF 7 I A9 |

A T : T T e STHUTT - FeAH (o | @7y <7 | 7 5 7| 77 71 Tean
TS T Ndfed Taheh HUge WISHE T=oid & | AT | 9U: Fai, WohH ST SHaaq =
. @ﬂ%ﬁ: ik | ‘Wﬁaﬁﬁjﬁﬁﬂ‘fl TgIaT: Adad- ot 2fz 39 =fE: e G ICERINEICE
HUSHM A | FF: F6: T6H A1 aaa | TEET: afe: ST iearerd $aeq- 1 Tead: TR

U |
B, M

Sub questions

Question Number : 91 Question Id : 953357525230 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T 3T TR ATE 2
It
HIAH

-,

EXE
mr

4. TdHq

-

LT o

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 953357525231 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



i

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 953357525232 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TSR T4 ea Ul o FET: ST ?
1. A

L=

CIGEH
3. HTHT:
4. T

Options :
1.1
2.2
3.3
4.4

(]

Question Number : 94 Question Id : 953357525233 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ife o fermfy = fergerfar 2
I Eﬁﬁ'%::

3

:

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 953357525234 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

-aAfergte: 3 veeg uFig: -
1. =T
2. éﬂ'(
3. =T
4, TS9EH:

]
Options :
1.1
2.2



3.3
4.4

Question Number : 96 Question Id : 953357525235 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
~ [ i
HART AT=% T TEAT: 31 U ST 0 -
1. T

4, T
Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 953357525236 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T 3 U = fawfE: 2
T
=qf
w3

4. TYHT
Options :
1.1
2.2

3.3
4.4

=] —_—

LS ]

Question Number : 98 Question Id : 953357525237 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

l. =
2. 719
3. &

4. I

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 953357525238 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



TRTTOT 3f ToraT U2 1 =T 2
I g-cThI:
2. TIE-TER:
4, T& ‘\-W:

Options :

1.1

2.2

3.3
4.4

Sub-Section Number : 2
Sub-Section Id : 95335729796
Question Shuffling Allowed : Yes

Question Id : 953357525239 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (100 to 105)
Question Label : Comprehension

s e foram |

qith=ste =) v ey = |
AT &1 T Wed Jra w1111

S A AT F S |
IS TEEEAI 7 JUgEAA |12

TERANIE 3 Fel wgara |

s [ =, Sy
FHI 7 T=Tg FEITe: g5 5 11311
“ b w2 e ]

W@m%mwwﬁﬁ!
T HTGEEEIT fore TH o A [14]]

OIS T T AT A T 115
Sub questions

Question Number : 100 Question Id : 953357525240 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T IYSIT: T IS ?

1. |o<
[x

EEEIH

w3

T EEAT:
FIEEE

-2

o



Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 953357525241 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FTETA T FeASTAT AT ?
1. 9ram
2. T

=i

4. fa=m

Options :
1.1
2.2
3.3
4.4

T

Question Number : 102 Question Id : 953357525242 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. 3o

3. 99

4, Jeaer
Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 953357525243 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

LRI GEERIKCE I
I T2

4

3. X

4. TSTH
Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 953357525244 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



30T & T 9

l. =T
2. T&:
i [a
3. 4l
4. e
Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 953357525245 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

IEECEAERTIE
|. "t
2. faw=:
3. ST

4. wgEq
Options :
1.1
2.2
3.3
4.4

Question Id : 953357525239 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (100 to 105)
Question Label : Comprehension



s T foram |

qith=ste =) v favee = |
FATSIS Za Tite Ted drga W I/1]]

T WA AT 7 S |
TSI 7 A=A 1211

HERINg S 3 Fel A |
T 7 FeaTg wg: gt o 11311

FTEON T et SeraTie! |
T HTGEEET fore TR o A (41|

U T T AT 0 T 115
Sub questions

Question Number : 100 Question Id : 953357525240 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

YT IYSIT: T ;IS ?

|
i

3. . ENEMAT:

4, IH4:
Options :
1.1
2.2
3.3
4.4

[§]

Question Number : 101 Question Id : 953357525241 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T T FASTEAT | 2
|. HTE

. ot

3. 9ot

4. famm

Options :
1.1
2.2
3.3
4.4

]



Question Number : 102 Question Id : 953357525242 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. 3qET

3. 99

4. IEIE
Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 953357525243 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Toren = mTqegR(t WAt 2
I T8

4

3. X

4. ga=
Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 953357525244 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TEOT F: T 2
1. I
2. T

i ~

3. HmE
4. TeH

Options :

1.1

2.2

3.3

4.4

Question Number : 105 Question Id : 953357525245 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

IEECENERCIEH
|. At
2. I
3. ST
4. W

Options :



1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 95335729797
Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 953357525246 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

DA ST R TS Fshe WTHTRTAeR0T T SATaey:|
1. ST ST T TTTaus e =
2. FEATHUAT AT THI IO SO AT
3. DIV TR TEATASHETY S =T AT, T AT AEEaEo |
4. ST WIST-2TVATE F T T FATHE - TEHETas SeTEHE( Assignment) TaTH |
Options :
1.1
2.2

3.3
4.4

Question Number : 106 Question Id : 953357525246 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

L [ = = -
BTATIT UTATHR 0] *-iﬁ\crﬂlg\-:hdml-! HTY [gf&iﬂhUl Hftig@"i L IG T H
1. SATO=Tes |TeTEe W TS TR =
2. TEATRURIET AT IEIS IR0 ST &

-]

3. DI VeSS FEATEETETd A= T, g Aty aEEIEo |
4. ST WIS TATE = T TG HATRE - TERETEE FeTEHE( Assignment) TeT |

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 953357525247 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

|, STTUTION A EET0T = Hiewor 21|
2. T WIH - SAFENE TR - Taae 7 |
3. Haesiie: MQQH\H—QM: TE: I = IR
4. F=ATEE HTH TETHTO (oA Y- STarrer |
Options :
1.1
2.2

3.3
4.4




Question Number : 107 Question Id : 953357525247 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

|, ST T STET0N = ST S|
2. T IR - STFET T - STaate 7 |
3. HAEARIT: HiaTH S TE: e = aRT|
4. F=ATEE HTH TRTHIO {oA Y- ST |
Options :
1.1
2.2

3.3
4.4

Question Number : 108 Question Id : 953357525248 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. T3rorE: saaEH EERE =3;oi|r:ﬂ |
. Tomra: e AT At Fa: e 7 7 et
3. T Te: TIEET: AT AT T 7 |
4. U 72 TRTeTRT AT A T RnaAvEgt ST

Options :
1.1
2.2
3.3
4.4

(]

Question Number : 108 Question Id : 953357525248 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T AT At ST R AT
Wﬁ‘r%maa‘%am %r?—'ﬂ'r ST -

. Tomera: staue I gv;mwﬂ |

. Tomra: 32 AT QAT g9 e 7 7 et
TRt T2 : TTIahT: quT STaaTeeae T = |
4. T T2 TR AT A T RIaAvEet ST

Options :
1.1
2.2
3.3
4.4

—

(]

LS

Question Number : 109 Question Id : 953357525249 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



AETIZATEHT (vygotsky) STTHT forerar: Fraaferefir: aref amaTfor- st foraf= soferes: Faid -
. UTSTTSHT TATEET e, T ST T T IU(ST, FETa G- AT, ATt = arag|

fa—

2. WeHE AR WS- A ShiemT: Jrarn: = |
3. Wmuﬁ@ﬁm,wm,mamnl
4. T AIETAT = S e I ST T TAE: ST EE |
Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 953357525249 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TR (vygotsky) STTET farer: weameTarta: Set SreTores- st s foretea wrerer: e -
. UTSATSHT TATGIT Had 7 ST TF T ST, FH G- AT, araierr = araq|
. WfeAer AR ars-arsTaT shierr: araEr: =7 e
3. ARIER FATITY ICRTETe, Tahied, S0 = sawd |
4. T AEHTAT = A T T ST T T ST TEE |
Options :
1.1
2.2

3.3
4.4

[a—

| ]

Question Number : 110 Question Id : 953357525250 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

WRATETRET: TEHTTTFFAT: TAq SgHIIehs ST Sy [ehedy M et SeaTahmaass 5

i 4 1-

1. ToTsreror farenferme Sue e faaTermTeT STaETEeT: |

2. TEHTSET AIGHTYET T Thead, faeerd 7 |

. T TR ferer: warg: | Fate et arereEs: TEee|
4. TTeTeT: U TS ST HATE IrATe: FH |

Options :

1.1

2.2

3.3
4.4

LS

Question Number : 110 Question Id : 953357525250 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



3

L. %W%@ﬁéwwmﬁmmwm |

2. TENTSIT SIGHTSET T Shea, fame T |

T TSR ToreTera: worg: | Far et STy TEer|
4. TreTeT: HUY AT AW HATE IrATE: FH |

Options :

1.1

2.2

3.3
4.4

-

Question Number : 111 Question Id : 953357525251 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
I ‘FITF'W = aﬁ?ﬁﬁ e 74|
SETQTEHWI??TEF(F%J? mﬁﬁwmuﬁmﬂq ST FHSH]|
3. uw@%mugm W%%Waw t
4. T AT SATR-FTGHATHY Tt aeid|

Options :
1.1
2.2
3.3
4.4

Ed

Question Number : 111 Question Id : 953357525251 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
I ‘FI'H’W e aﬁ?ﬁﬁ e 4|
sammﬁj-—rwr%m Wﬁﬁwmuﬁmm ST ST
3. uw@%mmgw m%ﬁ%ﬂaw t
4. TN T SATIh-STEHITHY At |

Options :
1.1
2.2
3.3
4.4

IJ

Question Number : 112 Question Id : 953357525252 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TS f3TeTeR: STt I T U fIIST: USH, WTNT STaar = Hied STHaTT | U v A —
|. TUH-S%=aY (Dyscalculia)

@'@?ﬁam{D}-'sgraphia}

W-@W’H\{Dyspraxia}

UB‘—I’-@W(D}FSIEXM}

[§]

O 'S ]



Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 953357525252 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TS f3TeTeR: STt I T U fIIST: USH, WTNT STaar = Hied STHaTT | U v A —
|. TUH-S%=aY (Dyscalculia)
2. @'@?ﬁﬁmtDysgraphia]
3. W-@W’H\{Dyspraxia}
4. UB‘—I’-@W(D}FSIEXM]

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 953357525253 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

. EaTge Tiewd (end of the each term)FRUiER
2. TEETEH TSATHTA-ST3HaT i, e T3 U ST a|

3. TEATEH (SETEATETiG W, g - AT = &1 TTIa-TihaT = 215 |

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 953357525253 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

I ﬂc\ﬁl@mﬁ (end of the each term)&F o
2. TEATEE TSATHTIA-TT3HaT T, T T3 U ST |

3. TS TRTErTeTie e, STETe- eI = 3T JTo-TT3RaT = 30 |
Options :
1.1
2.2

3.3
4.4

Question Number : 114 Question Id : 953357525254 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



wmﬁgmm&mwﬁﬁﬂm%m:?
. WA
2, ammgﬁ?rol-‘r
3. FEERTEH
4. YTER-re
[ b ]
Options :
1.1
2.2

3.3
4.4

Question Number : 114 Question Id : 953357525254 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

m@mmmm%mﬁmﬁm?
. UTEATETE
2. STeaTa-gfEE
3. FEERTE
4. YTER-gRe
(=% ]
Options :
1.1
2.2

3.3
4.4

Question Number : 115 Question Id : 953357525255 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TSR 9T Ta-erg ﬁ-l:s\l-;igﬂﬁ: e &t ?
| e ST, et fafareTerT: St =T |
2. WHTET: ST A Fea
3. HigelT vE W =ae |
4. ST T AT HiE = |

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 953357525255 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

|. eI ST it fafaereTT: STt =T |
2. WTHTET: ST A= Fea

3. Figelt v W =9 |

4. ST ST AT HIHAT =41 |

Options :
1.1



2.2
3.3
4.4

Question Number : 116 Question Id : 953357525256 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

HTHT-2T=e wata 77 —
|. ST ST T8 |
2. DT QSR 30S; AT |
. DT WTSTET: T A=D1 |
4. T VTS T srEyme e farafE |

Options :
1.1
2.2
3.3
4.4

L)

Question Number : 116 Question Id : 953357525256 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

HTST- A TETE0 WaTq TaT —
|. DT STET=EEH TEa |
2. T QT TUS: A & |
. T: HTTET: W AT |
4. T T T e T faafa |

Options :
1.1
2.2
3.3
4.4

(ad

Question Number : 117 Question Id : 953357525257 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

HTSTET; ITEF 19 : 2
|. U3, T T
2. U, FEUE I
3. WIS SEE
4. WU | HU
Options :
1.1
2.2

3.3
4.4

Question Number : 117 Question Id : 953357525257 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



WTSTET: ITEF F1d : 2
| U, S T
2. USHT, HAUH
3. WIS HE
4. TS, E0H =
Options :
1.1
2.2

3.3
4.4

Question Number : 118 Question Id : 953357525258 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

o forera: SemTtEaT: Wat -
|. T e At
. farer. e, Ry
3. FYT: @1 AT
4, ﬁT&'ﬁm’W aefer: Tfafatety:
Options :
1.1
2.2

3.3
4.4

| ]

Question Number : 118 Question Id : 953357525258 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

4 forera: SemtfEaT: wat -

. FEERT i nfatatat
. R Fritrd; TR
3. FYT: 9T TraTarefe:

4. TorsqameT. | TIGTaTar:
Options :
1.1
2.2

3.3
4.4

fa—

(]

Question Number : 119 Question Id : 953357525259 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TR TT=oTa: STt T WIS SISO STTITET: 9aT, T Fa i |
|. FEuEa=T (Code-switching)
L~ -~ =
2. @&M(Code—mixing}
3. =gHmETEE: (Multilingualism)
4. WA (Competence level)

Options :
1.1
2.2



3.3
4.4

Question Number : 119 Question Id : 953357525259 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
= . r
%“ iﬁ% Al HATHTHAIT TSR, ATEET: AU ST T T mﬂ‘qlli qﬁ% |

I W{Codt‘--sx&-’itching)

2. @%M\(Code—mixing)

3. deHmEE: (Multilingualism)

()
4. gHLEET: (Competence level)

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 953357525260 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Tt A sTeremrd g SgEue: FEd 9
|. HegshgauZaiq (Rubrics)

o ™
. Fvegorg=t (Check list)
%, ﬁ?ﬂﬂ'ﬂﬁ{lm—‘emories]

¢

4. FFETEIOETIHT

Options :
1.1
2.2
3.3
4.4

| ]

Question Number : 120 Question Id : 953357525260 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Tt safirme e T ATEe FE 0
I. FeIshg9Eem (Rubrics)

: ﬁﬁmf_\%ﬁ(Checklist}

3. %ﬁﬂ'ﬂﬁ{lm—'emories]

| ]

4. FFETEOETIHT
Options :
1.1
2.2
3.3
4.4

Language 11

Section Id : 95335716228
Section Number : 5
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 17

Number of Questions to be attempted : 17

Section Marks : 30

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 95335729798
Question Shuffling Allowed : Yes

Question Id : 953357525261 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (121 to 128)
Question Label : Comprehension

=1 T, T T T ST UiGT AU I 0 W4T % I 3 oA W
faerea =1 == i)

“FTY-STEHOT” T T AEIF TG T T AT | THHT F0T 8
G §AT AT Tt i\ J61 5 WA % Weash T H FREHT
&1 et 75t & 3fs 72 21 559 IgEee W aEn T U B i
FRETHT 3 et & e =i e arer < 3 | AT #
fawTs == feam B

T STONET WS UF T It ST S HEAT F a5l | 51 e g
ot A1 T 2 AW O AT SeETET 2§ ATEA o6 46 9 e arer
THTE AT SATHFETES 19 3 HE0 m??ﬁﬁmﬂﬂrwaﬁrmﬁﬁ
WORST ShT STTIAT AT &TA &1 T 8| e S 53 ST, A A
maﬁaﬁmﬁwnwﬁ?ﬁaﬁtmaﬁa‘mmmﬁv

T T & ST 3| T S A S ¥ e s
F\Jr%wﬁaummﬂowmﬁ T gafT 371 I=1 =1 o7 e hrer 1 T 2
ST TENUT H ST ATe RN 261 €5 @ISl AT =T1e0| Taiaor i
wmm%aﬁmnaﬁma&xmaﬁvl

Sub questions

Question Number : 121 Question Id : 953357525262 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

|. HETATR =T ATRR

2. "TSE-E1E
3. AT T T
4. At
Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 953357525263 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



m%wa@ﬁwmwm%%ﬂgvm

=T SETET 2
1. ST H SETE|
2. FTEAT AT HEA H S

3. Tt # s A Ffal
4. GEFETA H Ir]
Options :
1.1
2.2

3.3
4.4

Question Number : 123 Question Id : 953357525264 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TTETS] %347:1:{'1[{ Llﬂid{“l a%ﬂ’(ﬂ-ﬂ% ;_"I 2y Hﬂ{:‘i el Ml

¥

[a—

. Fee | AT 3 T
2. m:ﬁmdtaﬂiﬁuqﬁlll
3. WTEREAT I H FrE]
4, STEE W e

Options :

1.1

2.2

3.3
4.4

Question Number : 124 Question Id : 953357525265 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

HTT FTATER0T T ST &7 fear 2 = ST B —
|. TR et gard fre = 2
2. ITATERTT ATE T T T8 2
3. FTATE FHHET B T 2
4. STATEROT H I 3 01 T 0

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 953357525266 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FIH. T T AT TG 3 T, SToered ®0 | ITar 87
1. @t

e

3. E-ATE W Al

4. T IS

| ]



Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 953357525267 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

g&%qﬁmﬁﬁmﬁwﬁm%&@ﬁmm%
TYT WX -9 9752 TTHT 3 95 57
1. fader

|

3. THEAT
4, AT

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 953357525268 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. TIST St qeTeT |
. T Fr =T
3. T FEAH F o)
4. Terferee g o = 3 fom)

Options :
1.1
2.2
3.3
4.4

| ]

Question Number : 128 Question Id : 953357525269 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ERMCIRRIEEIE I i
1. Taq
2. HH R
3. @A+
4. FqA
Options :
1.1
2.2
3.3
4.4

Question Id : 953357525261 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (121 to 128)



Question Label : Comprehension
= few o e ﬁwmuamﬁﬁ“ﬂﬁﬂﬂ%&"ﬁ?¢fﬁﬁw
foamr=a =1 === Fifsm)

TG-S T T AIF TG FEF T FAT 2| FIH 0
a?m‘a'maﬁwﬂwﬁmmwrrm?Wmnqmﬂf
ﬁﬁﬁaﬁﬁﬁa%ﬁmmwwmm%aﬁ%a
Wﬁ%ﬁﬁﬂﬁﬁﬂ%ﬁﬂﬁ%?ﬂﬁmw
farwTs == feam 2
IO ] TSFH! W S JTe ATl 1 W § A F ey 31 ghg
T AT 3 AT O e SeETET 2§ ATEAI % 6 e arer

BHTE HIAT STFETEE 19 3 HR0T mqﬂﬂﬁmﬂmaﬁrwaﬁt
TSI Al ST T a1 B T € $E aGAT 55 e, A
mﬁw#wawﬁ?ﬁaﬁtmaﬁmwmﬁv
mam%m%lwﬁﬁﬁwmﬁvmaﬁ
HITE U FAT 3 o0 et ST a1 3t T T rer =i e 2
mwﬁmwmﬁﬁ@HWW|mﬁ

mm%m:@umaaqﬁmwmm%vl

Sub questions

Question Number : 121 Question Id : 953357525262 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TR O S-S 3 HA ST TR T E —
|. TETTT T TR

2. AE-g1E
3. AT T ST
4. AR
Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 953357525263 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TTRITST 3 SATEN AEHEH T AHNIHE TH1E & 170 587
Y ST 2

. ST H S|

2. FTEAT S HEE H 5

3. fommet w9 3fE

4. TE-gETA T IrE

Options :
1.1
2.2
3.3




4.4

Question Number : 123 Question Id : 953357525264 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
=, ()

1. T & 371 FoT =)
. ST ATEAT S

3. AT H g1

4. SAEE W TR
Options :
1.1
2.2

3.3
4.4

(]

Question Number : 124 Question Id : 953357525265 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TR AT F T s R B weew
|. ST 3 SEder gerd foer fear 2
2. ATATERT AT S ST T8 2 2
3. STATER T B T 2
4. TAETTF U F FH0TA 0

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 953357525266 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FI9- 1 R AT T F T, SToere =0 & Irary 87
1. e

. JTEAT T HE § i

3. TE-TE AT

a o

4. TETE UATST
Options :
1.1
2.2
3.3
4.4

]

Question Number : 126 Question Id : 953357525267 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



T 3 | AT 1 T & o 3 it ves
T U FH-HT I8 T4 . T 20
1. fag=r

|

3. FEaT
4, AT

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 953357525268 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
. TS AT AT |
.

. UHeA T T=uT I

3. g FEA & o)

[} e e

4. Terferea gfee o %7 3 fom)
Options :
1.1
2.2

3.3
4.4

[a—

| ]

Question Number : 128 Question Id : 953357525269 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T T AT AE E —
1. 939
2. TER
3. I
4. A
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 95335729799
Question Shuffling Allowed : Yes

Question Id : 953357525270 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (129 to 135)
Question Label : Comprehension



= fom 70 Tt S AT Ufew, AT UE 0 AT F I T Wer
o= = =9 Fifs)

IS TN B9 § T, 35, ATHE, 18 271 94T A1 2 96 T4 99
Ao BT 3 0T 3EH ST AT T T oS 3foa 2 o & o7 5
%ﬁ%ﬁﬁ#mmwm?mmmaﬁ'mﬁﬁﬁﬁ
# vz 79 S T B, Freet ool o1 3@ Wi B, FE A B T
%uﬂammmﬁaﬁgﬁ%uﬁm,ﬂnaﬂtﬁﬂm%aﬁm
BT 2 71 Ofer o7 B2 % Fr = fa=mw oft ufes 2t S eanEy ol
+ft afem < 7R 3 1 T WA A ATt et Fw-w e sme £ T
ar%ﬁmﬁm%aﬂm% T T FE ST S F ST I
mm%su%%uﬁ?rm%maﬁ?mwﬁaﬁ%mﬁ "
Tl T e e

Sub questions

Question Number : 129 Question Id : 953357525271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

n-—r:rmm%ammwmm%%ﬁ
|. 999 3, nﬁmﬁﬁﬁmﬁqm

. AR | frdt aE Fr e s W

3. T SE=SAT HT A BN W

. TG-S T ST T

Options :

1.1

2.2

3.3
4.4

| ]

Y

Question Number : 130 Question Id : 953357525272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

formmet i aferse 3 form formr vor wmar = 2 et 20
|. 9rE
Aty

=

3. &Far

4. B
Options :
1.1
2.2
3.3
4.4

]

Question Number : 131 Question Id : 953357525273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



m%waﬁﬁﬁaﬁ?ﬂmm%—
|. O SO Ut
2. aﬁ%%mﬁuﬂ:
3. ‘c:ﬁ%‘ﬁwﬁu'{
4 T FETI T
Options :
1.1
2.2

3.3
4.4

Question Number : 132 Question Id : 953357525274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TTEITST 3 SR T ST O ey fopa < e 27
1. T5eF 9=, f3=m o a1 § 99=ar 2t 2

2. T T, oo ok %01 § srear 2t 2
3. T3 79 797 fa=r1 5 99 f&u-gloﬁ ELUGESG]
H
4, %ﬁ%ﬁﬁ*&?ﬁﬁﬂqmmﬁﬁ%%r@ﬁw
Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 953357525275 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

gt faam ot amoft
. T FE I B
: a@ﬁﬂg@ﬁﬁ%l
. T R e
4. THU H T 30A A
Options :
1.1
2.2

3.3
4.4

[a—

]

LS

Question Number : 134 Question Id : 953357525276 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. |3
2. HEAH

3
4. TFm



Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 953357525277 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T W7 FE | 1 27
1. &0

.|
3. AfEE
4. 7=

Options :

1.1

2.2

3.3
4.4

| ]

Question Id : 953357525270 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (129 to 135)
Question Label : Comprehension

= fom 70 Tt it AT UTen AT 9% 0 AT F I 6 (o0 wer
farreg = =g Fiifem|

IfZ Z9R o7 5 7T, 3§, AR, HTE 31 AT oA17E § T B0 5
Ao 1 3 0T 3 o7 AT T +ft o 2foe 2 v # ofi
ol = Sfad & 1 36 =t USeT © A See mﬁ?ﬁ?ﬁﬁﬁ
7o TR S AT R, Forerer 2ot 1 3.1 UE= 2, e A B 56
%uﬂamwmﬁm%gﬁm Waﬂtmm%as@rm
St & 77 O T B 5 S E Fa i S o Em Ao
+ff afer =1 So 1 9 Te o Fret e wid e aee #
STh 7 5 F 5= T 2, AT H F 20T St © AR IR E
1 9% Wit Faue o 2| 9T o7 36 T UNET & wee o v
A T e e

Sub questions

Question Number : 129 Question Id : 953357525271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T 7 AT o e g w22
1. 995 ¥, e w1f W T R T

. IR o Tt a7 i st s W

3, T H ==l F A ||

4. TGRS F THE T

Options :
1.1

]



2.2
3.3
4.4

Question Number : 130 Question Id : 953357525272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

et i wfersra & form fopm Tom ey = ey o 20
1. o
AT

=

3. oFar

4. s
Options :
1.1
2.2
3.3
4.4

(]

Question Number : 131 Question Id : 953357525273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

+ y [ . b

TT2IT9T o HIER SIS Ta= WWH?ET%—
. BHTRI I 9T
e =
2. 331' E iéaﬂf ELS
i e

3., THFFA W

4. T F =R W
Options :
1.1
2.2

3.3
4.4

—

Question Number : 132 Question Id : 953357525274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TS 3 ST T = o farare fe S w27
1. 5% o9, fo=m =k =1 3§ Som=ar 2T 2

. 575 o, foam ik =1 & sremaT Bt 2

3. o = fommt & weme fofmg o ot =
<

4, %ﬁ%ﬁﬁ*ﬂﬁﬁﬂqmmﬁﬁ%f&aﬂﬁw

[§]

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 953357525275 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



gfas fa=m o gmft
. T AR
4. TEE T §T 3 A
Options :
1.1
2.2

3.3
4.4

fa—

(]

L

Question Number : 134 Question Id : 953357525276 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. &3
2. gy

3. T
4. TFm

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 953357525277 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T 9T T F A 22

1. &0

.
3. IhE

4. 54T
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 3
Sub-Section Id : 95335729800
Question Shuffling Allowed : Yes

]

Question Number : 136 Question Id : 953357525278 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



e f¥tereh 3 %0 freferiga 3 & FH-61 U 57 6 90 T 2
1. Toremeff =t srer % wHE € U g e

2. AT FTE T FAT T AT 5 TG F T ST =720, 711 1 7 Rranefi 3=t w1 7 2w
3. Tomemeff it 3fea =1 st oft w7 AT TE B
4. Tereren = T IO AR I U I TEAT 6 THTG [ TGTE, FAT I H 3 TreA AL H
T 7|
Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 953357525278 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T forerer o w0 fefeien 3 & FH-H1 G R 6 G T 2
1. TRvareff =t e o wHE € Qe o =

2. AT FTE T FET Y AT T H o S =t i w5 o fremd gfemt w7 g
3. Tomameff it 3= 1 ot ofr w7 TR T E
4. Foreer 7T o1 farsur ¥ 7T I U 1 TeeT 96 LT TF: TaT0 quT et @ o Ao F an |
T )
Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 953357525279 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

I WTST 13T % Y T =6 370 TSETET o SeasniST 3 9 ST d STTEd SIE 1 U9 AT J1E)
TrATeATEa o § F9-|T AT YT 3 T I T 0 % (o0 7e T8 82

1. ST 3 W 5T

2. mﬁﬁdqgm mi"ftgﬂﬂl

3. 16 T FeT JET

4. TR 709768 % oAU farersh | g

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 953357525279 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



T WTNT {3TeTeF 3 B H 2 o7 faaniiat I vTeeehiet % WheT ATeRaT I STTEA e T TATE T =11
fTrefefge o & -1 T ToaahIeT  TEAT i TieETed F F o 7E w82

1. ST o W 55

2 ‘Hﬂﬁﬁdugm 31253-1-1|

3. ITe% T T JET

4. T 7 9T6R o AT Fanersh | g

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 953357525280 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T T/ = (AT o AT S T T ST T W S S ST IO SR ST ST /T -
. Tarmrrerft wraT = oy W i en0er stiie s 2

3. FEE/EEE IO SE WIS ST &/ 2 T e § 56 W6 O ' § F i 99 TE 2

4. Trem Ry R ST FET R

Options :
1.1
2.2
3.3
4.4

| ]

Question Number : 138 Question Id : 953357525280 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TS /A T § ST S T & 7O WU WIS S Sra § ST ST ST AT AT /T & -
. Tt s = 7 e i oqva i ofvETE

3. S/ STUT S WIS ST B/ & q e 7 59 W O Hie | i qed 7w 2

4. TErmem 8 3w v w e Fw ST 2

Options :
1.1
2.2
3.3
4.4

[§]

Question Number : 139 Question Id : 953357525281 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Fr=ferftgs & & Fiv-a7 T faenfif=t & srea-iere 7 e 5 & o ga2 27
. UTSAUEA F UTS T AT W4T % I &A1
2. yerE
3. U WS foreT

Options :



1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 953357525281 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FrAfeAEs o & -9 Tl fSentat & oRg-ieTe T e ®i o (o0 92 27
. UTEATET ¥ IS T ST TAT 3 I G
2. ¥
]
3. I STNE forET
Options :
1.1
2.2

3.3
4.4

Question Number : 140 Question Id : 953357525282 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

HTHT 3 THFETeTe TR AT A % Y FETET e 2
|. HUYOTeSeF SUTTH

H=HTeH S 29T
3. TEATH® U
4. QIS 3UTTH

Options :

11

2.2

3.3
4.4

[

Question Number : 140 Question Id : 953357525282 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST % T3RTee UEe] 1 W7 S0 % Y FETET e 2|
|. HUSUTeE 3T

T = TcHh SUTTH
3. TEFTHS® U
4. QIS 3UTTH

Options :

1.1

2.2

3.3
4.4

]

Question Number : 141 Question Id : 953357525283 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



TTTHE T W T3 FTEa] 3l ST T F [0 (A 1eAiga 5 § F 17 9 [shed qay A1 3Ug o7
| . ST T YE= AT

2. TFrmfEEtwr =

3. T3 =l ST

4. 93T H TATE

Options :

1.1

2.2

3.3
4.4

Question Number : 141 Question Id : 953357525283 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TR ¥R U U3 AT S TR F 3 [0 (A eiad 3 | i | ey Fa A 0 7
| . SUTHTEAT T TR AT

2. frm et w =

3. UT3 Rl THEAT

4. 93T Y vaTE

Options :

1.1

2.2

3.3
4.4

Question Number : 142 Question Id : 953357525284 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T= fafer St ST TR U SITST & TS U TR B, 39 Fed T
. ST STTI WTaT At

2. qUT TR e erar

3. FEATICTS (FEehRT) W77 SAray

4. FUUTTEE WTNT foreqor

Options :

1.1

2.2

3.3
4.4

Question Number : 142 Question Id : 953357525284 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Tz fafer st siifeers fome vd W F FEEER W o B, S FEd 2|
. T AT WTaT St

2. U wITiifier it

3. HEANTeHe (TEehTT) WTHT ST

4. FUTTEER T fereqor
Options :

1.1

2.2



3.3
4.4

Question Number : 143 Question Id : 953357525285 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

S-S T H T8 &

. TTFHTST ZT ERE T AETE

2. TSR] 3T TEed 34T

3. Terameff % wrwor Fterer #1 WA FAT

4. Termeff =1 9TST F YT YSTE ST A A ST
Options :

1.1

2.2

3.3

4.4

Question Number : 143 Question Id : 953357525285 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST e | 78§

. TTETST ZTT ERE o TETE

2. SATERITT T HEed &)

3. Taemeff = Horor Fieet F wFET AT

4. Terameff =t 7o 3 T AT TR S AR S
Options :

1.1

2.2

3.3

4.4

Question Number : 144 Question Id : 953357525286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Frefeaad o 17 o1 faeed, Ua-Ud Tiarard 3 o7 e 27
| U1 FIEUT AT SIS AT

2. ST T T FH|

3. ToTeqTteiat =1 UT3F WIHHT T RIS 5 % o Fe)
4. SR HT=TET = faTeq)

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 953357525286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Treferfad & 1= |1 faweg, U3-Ud TTafate & fon e 27
| IT3F T T TS

2. ST T |

3. ToTertoiat =1 UT3g WIHT 1 RIS F % o Fa
4. ST =T = feTaq)

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 953357525287 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

freferitan & & S-a ooy, TSI sTee % e & W 78 82

1. GrEwmiferat eTrerets farafeat 3 2AfenTs 3 T=1oT SeT ot 2

2. 7= faenfiiat =t otfir =g e S e AT B

3. 7= Taenfilat & 0= =1 Oifss oo & 99T o797 211 i =9 Tt &5 O TeErgat FT 2
4. T wTee Taandt % e =1 v an § B S e e B

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 953357525287 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TrATeTa = & H17-T oohed, Tl Ao % o 3 ¥el Tai 27

1. GrEmiferat eTrerets farafeat 3 <AfenTs 3 w=mor TeT AT 2

2. 7% faenfifat = arferes e o9 F wErEE I 2

3. 7= Tt & o= =t oifee e & 7T oo <1femms & = At 7 o weraT FaT B
4. TrEmIera sTer faandT % s1fenm =1 v an § R e e e B

Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 953357525288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

forae we o i e (Fhfeni) Tsh Teragut =7oT & it s T i B
1. 99 9 9 3= U= 1 Ui Ul 39 fom § iee va o7em fore =
2. oIUH o et & o7 fepe
3. u, e vE W I ° ¥ w9 e
4. TTER! T TR H

Options :
1.1
2.2



3.3
4.4

Question Number : 146 Question Id : 953357525288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Tora wie o i e (Thfeni) s Teragut =RoT B i s T i B
1. 597 9= o a7 U et 39 129 9 vree vg v fore= =
2. o o foeet @ ord e =
3. g, o vE W I ° %o w9 fea
4. TR TR T A

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 953357525289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TS T AU YT 2T HTTE G 2, AT & ST G 1 T8 SFa.....
. O O =,
. == o St T
% e
-~ i~ - =
3. TR oft 97 TTae JET |
4. UREHTE B ST |

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 953357525289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 148 Question Id : 953357525290 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



STFIOT 3 STETH-

I HeF EE T =i
2. e EE R
3. U1 &Y HiEd B =t
4. T W HEA BN =

Options :

1.1

2.2

3.3

4.4

Question Number : 148 Question Id : 953357525290 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 149 Question Id : 953357525291 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 149 Question Id : 953357525291 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 150 Question Id : 953357525292 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 150 Question Id : 953357525292 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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